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ave table shows that price per unit output remains the same (Rs.10) at all sale
As P = AR thus average revenue and marginal revenue also remains un-changed.
I re -— lue goes on increasing as more units of output are sold.

g "l"nclm from the diagram that price (P) average revenue (AR) and marginal (MR) J:-:
[ imgle straight line parallel to x-axis. Thus P = AR = MR under perfect
Hmpe nb 'I'Rnum: shows rising trend at a constant rate.

EVENUE CURVE UNDER MONOPOLY AND IMPERFECT COMPETITION:-
£ o | onop 'il.'prucnts the situation where only one firm has full control over the
M'Ef of the commodity / service. There is no close substitute available for the

Whﬂ has the power to increase or decrease the price of the commodity. To

, ';- 'Ihen price is lowered down. Average revenue (AR) follows the change in

¥ ”ﬁﬁy e muc (MR) also tends to change.
TR PR | e ly than AR, Thus while falling MR remains below the AR curve.
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e ¥ Th ;-s,u' uation under imperfect competition whether it is duopoly, oligopoly
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D between AR and MR curves has been shown is the following
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